Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

| | | | Instructions | |
|---|--|--|--|---|
| - All claims - A separate Disburseme However, o - The cost c - A CV for e | must be in Canadian dollars. If applicate "Detail of Fees and Disbursements Beents Being Claimed") is required for each only one "Summary of Fees and Disburs laim must be supported by a complete ach consultant/analyst must be attach | able, state Rate Rate Rate Rate Rate Rate Rate | exchange rate and country or e: ed" (comprising a "Statement analyst/consultant and articli covering the whole of the part t signed by a representative or provided to the Board as pres | finitial currency. Country: of Fees Being Claimed" and a "Statement of ng student/paralegal. y's cost claim should be provided. f the party. cribed on the Cost Award Tariff. |
| File # EB- | 2016-0152 | | Process: OPG Paymen | t Rates |
| Party: | Sustainability-Journal.ca | | Affiant's Name: F | Ron Tolmie |
| HST Numb | er: | | HST R | Rate Ontario: 0.00% |
| | Full Registrant | | Qualifyir | ng Non-Profit |
| | Unregistered | tail of Fees and Disbursements Being Claimed" (comprising a "Statement of Fees Being Claimed" and a "Staten feing Claimed") is required for each lawyer, analyst/consultant and articling student/paralegal. ne "Summary of Fees and Disbursements" covering the whole of the party's cost claim should be provided. must be supported by a completed Affidavit signed by a representative of the party. onsultant/analyst must be attached unless provided to the Board as prescribed on the Cost Award Tariff. as provided in section 7.03 of the Practice Direction on Cost Awards, itemized receipts must be provided. 16-0152 Process: OPG Payment Rates stainability-Journal.ca Affiant's Name: Ron Tolmie HST Rate Ontario: 0.00% Full Registrant Qualifying Non-Profit Tax Exempt Other Direction of City/Town of Ottawa e/State of Ontario , of the City/Town of , swear or affirm that: ntative of the above-noted party (the "Party") and as such have knowledge of the matters attested to herein. ad all of the documentation in support of this cost claim, including the attached "Summary of Fees and Disbursement(s) of Fees Being Claimed" and "Statement(s) of Disbursements Being Claimed" and "Statement(s) of Disbursements Being Claimed" and "Statement(s) of Fees Being Claimed" and "Statement(s) of Tees Being Claimed" | | |
| | Other | | | * 1,500pp |
| | | | Affidavit | |
| l, | Ron Tolmie | | _ , of the City/Town of _ | Ottawa |
| in the Pro | vince/State of Or | itario | | swear or affirm that: |
| 2. I have exa Being Claim 3. The attac Disburseme Ontario Ene 4. This cost described in | amined all of the documentation in suped", "Statement(s) of Fees Being Claim hed "Summary of Fees and Disbursements Being Claimed" include only costs argy Board process referred to above. claim does not include any costs for was sections 6.05 and 6.09 of the Board's | pport of th ned" and "S ents Being incurred an ork done, o | is cost claim, including the att Statement(s) of Disbursement claimed", "Statement(s) of Found time spent directly for the or time spent, by a person that | tached "Summary of Fees and Disbursement is Being Claimed". ees Being Claimed" and "Statement(s) of purposes of the Party's participation in the |
| Sworn or | affirmed before me at the City/ | Town of | OTTAWA | |

Jennifer Gaspar ADAR: WILLEP KELL Professional Corporation

in the Province/State of

Page 1 of 6

601-300 March Road Kanata, ON K2K2E2 Tel: 613-592-6290

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

Commissioner for taking Affidavits

File # EB- 2016-0152 Process: OPG Payment Rates

Party: Sustainability-Journal.ca

| Summary of Fees and Disbursements Being Claimed | | | | | | | | |
|---|----|-----------|--|--|--|--|--|--|
| Legal/consultant/other fees | \$ | 10,120.00 | | | | | | |
| Disbursements | \$ | 2,327.31 | | | | | | |
| HST | \$ | 450.50 | | | | | | |
| Total Cost Claim | \$ | 12,897.81 | | | | | | |

Payment Information

Make cheque payable to: Ron Tolmie

Send payment to this address: 217 Petrie Lane

Kanata

ON K2K 1Z5

Ontario Energy Board COST CLAIM FOR HEARINGS



Detail of Fees and Disbursements Being Claimed

| File # EB- | 2016-0152 | | Process: OPG Payment Rates | | | | | | |
|------------|------------------------------------|--------------|----------------------------|--|---|--|--|--|--|
| Party: | Sustainability-Journal.ca | | Service Provi | der Name: Ron Tolmie | | | | | |
| | SERVICE PROVIDER TYPE | (check one) | Year Called to Bar | Completed Years Practising/Years of Relevan Experience | t | | | | |
| | Legal Counsel | | | 62 | | | | | |
| | Articling Student/Paralegal | | | | | | | | |
| | Consultant | ✓ | | Hourly Rate: \$80 | | | | | |
| | Analyst | | | | | | | | |
| | For Consultant/Analyst: | ✓ CV attac | ched | HST Rate Charged (enter %): 0.0% | | | | | |
| | | ☐ CV prov | ided within previous 24 | months | | | | | |

| St | atement | of F | ees Being | Cla | imed | | | | |
|-----------------------------|---------|------|------------|-----|-----------|----|-------|----------|-----------|
| | Hours | _ | ourly Rate | Ī | Subtotal | | HST | | Total |
| Pre-hearing Conference | | | | | | | | | |
| Preparation | 20 | \$ | 80.00 | \$ | - | \$ | - | \$ | - |
| Attendance | 5.00 | \$ | 80.00 | \$ | 400.00 | \$ | _ | \$ | 400.00 |
| Technical Conference | | | | | | | | <u> </u> | |
| Preparation | | \$ | 80.00 | \$ | - | \$ | - | \$ | - |
| Attendance | 6.00 | \$ | 80.00 | \$ | 480.00 | \$ | - | \$ | 480.00 |
| Interrogatories | | | | | | Ė | | + | |
| Preparation | 12.00 | \$ | 80.00 | \$ | 960.00 | \$ | _ | \$ | 960.00 |
| Responses | | \$ | 80.00 | \$ | - | \$ | - | \$ | _ |
| Issues Conference | | | | | | Ė | | | |
| Preparation | | \$ | 80.00 | \$ | - | \$ | _ | \$ | - |
| Attendance | 10 | \$ | 80.00 | \$ | - | \$ | - | \$ | = |
| ADR - Settlement Conference | | | | | | | | | |
| Preparation | | \$ | 80.00 | \$ | - | \$ | 1.7-0 | \$ | - |
| Attendance | 6.00 | \$ | 80.00 | \$ | 480.00 | \$ | - | \$ | 480.00 |
| Proposal Preparation | | \$ | 80.00 | \$ | | \$ | - | \$ | - |
| Argument | | | | | | | | | |
| Preparation | 24.00 | \$ | 80.00 | \$ | 1,920.00 | \$ | - | \$ | 1,920.00 |
| Oral Hearing | | | | | | Ė | | | , |
| Preparation | 14.00 | \$ | 80.00 | \$ | 1,120.00 | \$ | - | \$ | 1,120.00 |
| Attendance | 59.50 | \$ | 80.00 | \$ | 4,760.00 | \$ | - | \$ | 4,760.00 |
| Other Conferences | | | | | | | | | |
| Preparation | | \$ | 80.00 | \$ | - | \$ | - | \$ | |
| Attendance | | \$ | 80.00 | \$ | - | \$ | 1-1 | \$ | 18.1 |
| Case Management | | \$ | 170.00 | \$ | - | \$ | - | \$ | - |
| TOTAL SERVICE PROVIDER FEES | | | | \$ | 10,120.00 | \$ | | \$ | 10,120.00 |

Ontario Energy Board COST CLAIM FOR HEARINGS Detail of Fees and Disbursements Being Claimed



| File # EB- | 2016-0152 | Process: | OPG Payment Rates | | | |
|------------|---------------------------|---------------|-------------------|------------|--|--|
| Party: | Sustainability-Journal.ca | Service Provi | ider Name: | Ron Tolmie | | |

| | Statem | ent of Disburseme | nts Being Claimed | | | |
|-------------------|--------|-------------------|-------------------|----|-----------------|----------------|
| | | | Net Cost | | HST | Total |
| Scanning/Photocop | У | | | | | \$ |
| Printing | | | | | | \$ - |
| Courier | | | W10.00 | | | \$ _ |
| Telephone/Fax | | | | | | \$ _ |
| Transcripts | | | | - | | \$ - |
| Travel: Air | | | | | 1000200 | \$ - |
| Travel: Car | | | | | | \$ _ |
| Travel: Rail | | \$ | 1,293.00 | \$ | 168.09 | \$ 1,461.09 |
| Travel (Other): | | | | | | \$ - |
| Parking | | | | | | \$ |
| Taxi | | | | | | \$ _ |
| Accommodation | | \$ | 1,034.31 | \$ | 282.41 | \$ 1,316.72 |
| Meals | | | | · | E-production of | \$ _ |
| Other: | | | | | | \$ _ |
| Other: | | | | | | \$ _ |
| Other: | | | | | | \$ - |
| TOTAL DISBURSEME | NTS | l \$ | 2,327.31 | \$ | 450.50 | \$ 2,777.81 |